50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

: 2
Solve % —4y =cosh(2x —
x -4

2
Solve d y +2dy

+3y

¢  Module-2

Solve p +pxt+y) +¢
= sin(y — xp) Adso find its smgulﬁ%@ﬁutmn

Solve
Solve
Solve f’&

Module-3¢
Ty

Obtain the pamal dlff;@rentlal equation by eliminating a, b, ¢ from z = ax” + bxy + cy’.
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Max Marks: 80

(06 Marks)

(05 Marks)

(0S5 Marks)

&

(96 Marks)
(05 Marks)

(05 Marks)

(06 Marks)
(05 Marks)
(05 Marks)

(06 Marks)
(05 Marks)
(05 Marks)

f(x + ay) + g(x —ay) by eliminating arbitrary

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)



C.

b.

C.

15SMAT21

. du 2621.1
t equation — =c”— by the
g B e 2

method of variables separable. (05 Marks)

31
7 a. Evaluate I _[ .[xyzdzdy dx (06 Marks)

1 1/x 0
Change the order of integration i (05 Marks)
n/2 T
Prove that j A/sin 0 dO x (05 Marks)
0

ing into polar coordinates. (06 Marks)

9

etween the parabolas y* = 4ax and x* = 4ay.
(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

* %k %k k %
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